clc;
clear all;
close all;
%% Unit step signal
n1=21;
u=ones(1,n1);
%% Unit Ramp
n2=0:1:n1-1;
r=n2;
%% Unit Impulse
i=[1,zeros(1,n1-1)];
%% Exponential
ge=2.^n2;
de=(0.5).^n2;
dsge=(-2).^n2;
dsde=(-.5).^n2;
%% Finite sequence
n=(-1):1:3;
x=[2 3 -1 2 4];
figure;
subplot(2,4,1);
stem(n2,u);
title('Unit Step Signal');
xlabel('n');
ylabel('u(n)');
subplot(2,4,2);
stem(n2,r);
title('Unit Ramp');
xlabel('n');
ylabel('r(n)');
 
subplot(2,4,3);
stem(n2,i);
title('Unit Impulse');
xlabel('n');
ylabel('d(n)');
 
subplot(2,4,4);
stem(n2,ge);
title('Exponential 1');
xlabel('n');
ylabel('e1(n)');
 
subplot(2,4,5);
stem(n2,de);
title('Exponential 2');
xlabel('n');
ylabel('e2(n)');
 
 
subplot(2,4,6);
stem(n2,dsge);
title('Exponential 3');
xlabel('n');
ylabel('e3(n)');
 
 
subplot(2,4,7);
stem(n2,dsde);
title('Exponential 4');
xlabel('n');
ylabel('e4(n)');
 
subplot(2,4,8);
stem(n,x);
title('Finite Sequence');
xlabel('n');
ylabel('f(n)');
 




[image: C:\Documents and Settings\Administrator\Desktop\untitled.jpg]
image1.jpeg
e2(n)

Unit Step Signal Unit Rarmp Unit Impulse x10°  Exponential 1

1 2 1 15
08 » 08
10
08 s _
g S B
04 04 d
5
02 E TTT 02 T
D@?T 5 of

5 0 15 W 5 0 15 2 a BRI E E) a 50 15
n n n n
Exponential 2 x10°  Exponential 3 Exponential 4 Firite Sequence
1 15 1 4
08 1 3
0s
06 - 05 e 2
04 [ 5 l 5 T&@ 1
02 05 0

5 0 45 20





